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式の値－応用多項式の計算ＮＯ１６B

a＋b＝－4, ab＝－9 のとき，a2＋ b2 の値を求めよ。

a2＋b2

a2 ＋b2＋2ab －2ab

(a＋b)－2ab

－2×(－9)

16＋18

＝ 34
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の式にしてから代入！
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例２
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a＋b＝－4, ab＝－9 のとき，a2 ＋b2の値を求めよ。

a2 ＋b2＋2ab ＋3ab

(a＋b)＋3ab

＋3×(－9)

16－27

＝ －11

＋5ab

a2 ＋b2＋5ab
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の式にしてから代入！
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a－b＝－4, ab＝－9 のとき，a2 ＋b2の値を求めよ。

a2 ＋b2－2ab ＋7ab

(a－b)＋7ab

＋7×(－9)

16－63

＝ －47

＋5ab

a2 ＋b2＋5ab
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(○－●)2

の式にしてから代入！
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のときは＋●
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○－●で
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＋2ab－2ab

－2○●

＋5ab＝＋2ab＋3ab

＋□○●

△○●

ポイント

ポイント

＋5ab＝－2ab＋7ab
ポイント

＝0

＋9ab＝＋2ab＋7ab

＋7ab＝＋2ab＋5ab

＋4ab＝＋2ab＋4ab

因数分解

代入

因数分解

代入

＋ab＝－2ab＋3ab

＋3ab＝－2ab＋5ab

＋8ab＝－2ab＋10ab

因数分解

代入

＋y2＋2xy －2xyx2

x2＋y2

＝


